


Parts List for N16 Type 0

Item Number Part Number Description Qty Required

1 HN540.2 NUT-5-40 NYL INSERT 1

2 000000-00 No Longer Available 1

3 000000-00 No Longer Available 1

4 000000-00 No Longer Available 1

5 000000-00 No Longer Available 1

6 000000-00 No Longer Available 1

7 000000-00 No Longer Available 1

8 000000-00 No Longer Available 1

8 000000-00 No Longer Available 1

9 000000-00 No Longer Available 1

10 000000-00 No Longer Available 1

10 000000-00 No Longer Available 1

11 000000-00 No Longer Available 1

12 000000-00 No Longer Available 1

13 000000-00 No Longer Available 1

14 000000-00 No Longer Available 1

15 000000-00 No Longer Available 1

16 000000-00 No Longer Available 1

16 000000-00 No Longer Available 1

17 000000-00 No Longer Available 1

18 000000-00 No Longer Available 1

19 000000-00 No Longer Available 1

20 UA4816.1 SCREW-1/4-20 X 1 SHC 1

21 000000-00 No Longer Available 1

22 000000-00 No Longer Available 1

23 000000-00 No Longer Available 1

24 000000-00 No Longer Available 1

Page 1



Parts List for N16 Type 0

Item Number Part Number Description Qty Required

25 000000-00 No Longer Available 1

26 89673 O-RING 1

27 000000-00 No Longer Available 1

28 000000-00 No Longer Available 1

29 000000-00 No Longer Available 1

30 89672 O-RING 1

31 000000-00 No Longer Available 1

32 000000-00 No Longer Available 1

33 000000-00 No Longer Available 1

34 000000-00 No Longer Available 1

35 000000-00 No Longer Available 1

36 000000-00 No Longer Available 1

37 000000-00 No Longer Available 1

38 000000-00 No Longer Available 1

39 000000-00 No Longer Available 1

40 HN1220.3 NUT-1/2-20 NYL INS L 1

41 000000-00 No Longer Available 1

42 000000-00 No Longer Available 1

43 000000-00 No Longer Available 1

44 000000-00 No Longer Available 1

45 000000-00 No Longer Available 1

46 000000-00 No Longer Available 1

48 000000-00 No Longer Available 1

49 86458 O-RING 1

50 000000-00 No Longer Available 1

51 000000-00 No Longer Available 1

52 000000-00 No Longer Available 1

Page 2



Parts List for N16 Type 0

Item Number Part Number Description Qty Required

53 000000-00 No Longer Available 1

54 N16005 VALVE SEAL 1

55 000000-00 No Longer Available 1

55 000000-00 No Longer Available 1

56 000000-00 No Longer Available 1

57 000000-00 No Longer Available 1

58 000000-00 No Longer Available 1

59 UA4812.1 SCREW-1/4-20 X 3/4 S 4

63 000000-00 No Longer Available 1

64 UA4824.2 SCREW-1/4-20 X 1 1/2 4

65 PW12.5 WASHER-1/4 SAE FLAT 4

66 000000-00 No Longer Available 1

67 000000-00 No Longer Available 1

67 000000-00 No Longer Available 1

68 000000-00 No Longer Available 1

69 000000-00 No Longer Available 1

70 000000-00 No Longer Available 1

71 000000-00 No Longer Available 1

72 000000-00 No Longer Available 1

73 000000-00 No Longer Available 1

74 000000-00 No Longer Available 1

75 000000-00 No Longer Available 1

77 159919 LABEL-WARNING-MIIICN 1

800 100653 LUBE (2CC) 1

800 100679 LUBE (1LB.CAN) 1

Page 3


